Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY
Winter Examination-2021

Subject Name : Computer Aided Design and Computer Aided Manufacturing

Subject Code : 2TE05CDM1

Semester: 5

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Branch: Diploma (Mechanical)

Date: 16/12/2021 Time: 11:00 To 02:00 Marks: 70
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Attempt the following questions:

Which of the following is an activity of CAD?

(A) Process Planning (B) Production Scheduling
(C) Quality Control (D) Drafting

Where robots are used?

(A) Industrial Production (B) Packaging

(C) Material handling (D) All of these

Which of following is not Rapid prototyping technique?
(A) Stereo lithography (B) Part Programming
(C) 3D Printing (D) FDM

Triangle of area 30 mm? is transformed to 60 mm? area then the type of

transformation is .....

(A) Reflection (B) Translation

(C) Scaling (D) Rotation

In the following geometric primitives. Which is a solid entity?
(A) Rectangle (B) Triangle

(C) Cylinder (D) Circle

Which is the brain of CNC Machine?

(A) Actuators (B) Part Program

(C) MCU (D) Drives

Which of the following is an activity of CAM?

(A) process planning (B) production scheduling
(C) quality control (D) All of above

AGYV stands for

(A) Automated guided van
(C) Automobile guided van
Which code is used for tool change?

(B) Automobile guided vehicle
(D) Automated guided vehicle

(A) M03 (B) M04

(C) M05 (D) M06

Which command used to give thickness to 2D surface in AutoCAD?
(A) Emboss (B) Extrude
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(A) GO1 (B) GOO 1
(C) G02 (D) GO3
I) AGVs are used for
(A) Designing (B) Planning 1
(C) Tool selection (D) Material Handling
m) Which of the following devices do not produce a hard copy?
(A)Impact printers (B) Plotters 1
(C) CRT terminals (D) Non-Impact printers
n) CAD/CAM is the relationship between
(A)Science and Engineering
(B)Manufacturing and Marketing 1
(C)Design and Manufacturing
(D)Design and Marketing
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
(@)  Write benefits, limitations and applications of CAD/CAM. 7
(b) What is CAD and CAM? Explain typical product cycle of CAD/CAM. 7
Q-3 Attempt all questions (14)
(@)  Write down the specifications of CNC Milling machine used in industry. 7
(b) List Input and Output devices used in CAD Hardware. Explain each in 7
detail.
Q-4 Attempt all questions (14)
(@) List Geometric transformations. Explain any two. 7
(b)  Write any 7 G-code with its application. 7
Q-5 Attempt all questions (14)
(@) Explain wireframe modelling with its advantages and disadvantages. 7
(b)  Explain Automatic Tool Changer (ATC) with neat sketch. 7
Q-6 Attempt all questions (14)
(a) Prepare a part program using G and M code for fig. 1 7
(b) Name the types of solid modelling techniques. Explain feature based 7
modelling technique in detail.
Q-7 Attempt all questions (14)
(@) What is Computer Integrated Manufacturing (CIM)? Explain Elements of 7
CIM by drawing CIM Wheel.
(b)  Write down short note on 3D Printer. 7
Q-8 Attempt all questions (14)
(@) Explain the general procedure of FEM. 7
(b) Give classifications of robots. Explain pitch, Yaw and Roll in Robotic 7
arm.
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(C) Height (D) Length

k) Which code is used for anticlockwise circular interpolation?
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Fig. 1
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